=

Rewriting Multiplication Problems (visual)

Name:

Write each array as a multiplication problem and solve.

Answers

Ex) ©0090 1) £££S2 2 A MK NN AL
OO OO BPRBZB WK E 7 x 4=28
00O PRBSB HHANNNNH X.
OO OO B BBZB VeI
OO OO BRBZB 1
OO OO BPRBZB )
OO OO BPRBZB
PRLEEB 5
BPRBZB )
BPRBZB
3.
4.
3) <« 4) oA A A 5) 9000000
«q« ok A AW OO0 5
% A A A QOQOQOOOO
% A A A QOQOQOOOO
xR A AN QOO0 6
QOO0 '
QOO OOO
7.
8.
9.
6) A A 7) oo 8) XHXXXXXXX
A A oo XHXXXXXXX 10.
A A oo XHXXXXXXX
A A oo XHXXXXXXX
A A oo XXXXXXXX 11.
oo XXXXXXXX
oo XXXXXXXX
oo XXXXXXXX
9 00 10) 0000000000 17) 99
Q0 (ONONCNORONONONCNONO) VAV,
Q0 (ONONCNORONONONCNONO) VAV,
Q0 (ONONCNORONONONCNONO) VAV,
Q0 VAV
QO 0 Q
(VAV)
(VAV)
(VAV)
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ﬂh Rewriting Multiplication Problems (visual) Name: Answer Key

Write each array as a multiplication problem and solve. Answers
Ex) ©0090 1) £££S2 2 A MK NN AL
OO0 BPRBB HHKKKHH Ex 7x4=28
0000 PRPP HHHSHNHNAN '
OO0 OO BPRBB VAV V4V A 4
OO0 O BBRB —
000 BRBP 1. 10x4=40
OO0 O PBBR
BPBRR —
Yy 2. 4x8=32
BBRRR
3. 2x3=6
4. 5x5=25
3) €<« 4) A A A 5) 000000
«<c« * kA KK Q00000 5 7x7=49
* kA KK Q00000
* kA KK Q00000
R Q00000 6 5x2=10
Q00000 '
Q000000
7. 8x2=16
8. 8x 8=64
0. 6x2=12
6) AA 7) OO g) XXXXXXXX
A A oo XXXXXXXX 100 4x10=40
AA oo XXX XXXXX
AA oo XXX XXXXX
AA oo XXX XXXXX 11. 9x2=18
oo XXX XXXXX
oo XX XXXXXX
oo XXXXXXXX
9) 00 100 0000000000 17) @9
00 0000000000 VAV
00 0000000000 VAV
00 0000000000 VAV
00 VAV
00 VAV
VAV
VAV
VAV
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